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IBAL | BN K4 £ ENO OUT IN | GROSS| HDCP | NET | crossiiz ik IBAL | SN R4 = BNO OUT IN |GROSS| HDCP | NET |crossii k=3
1 ek i 1667 38 38 76/ 11.0 [65.0 5141 i 1088 46 43 89/11.0 |78.0
2| H %6 338 39 39 78] 6.0 | 72.0 52 | FK L 1 1388 47 42 89/11.0 |78.0
3T = 1044 39 39 78] 6.0 | 72.0 53| H I Ak 1274 46 45 91/13.0 |78.0
47K FE AEXKER 1602 42 38 80| 8.0 |72.0 54 |[miRr FHERER 109563 43 43 86| 7.0 |179.0
5IFA #Y 1636 37 44 81/ 9.0 |72.0 55[1f/K B AR 1185 44 43 87| 8.0 |79.0
6 5LE 1193 42 40 82/10.0 | 72.0 56| Ml sE5 1448 46 41 87| 8.0 179.0
7ML R 1670 45 39 84|12.0 |72.0 57/% #id 572 42 45 87| 8.0 |79.0
8IAnA FEHAS 1007 43 42 85/ 13.0 | 72.0 58| KK B 1326 44 44 88| 9.0 |79.0
9 A H 1189 43 42 85/ 13.0 | 72.0 59 & =Rl 228 45 44 89/10.0 [79.0
10 | BE3E F05 529 39 40 79| 6.0 [73.0 60 | FIH % — 1543 43 47 90| 11.0 |79.0
113 & 1151 41 39 80| 7.0 |73.0 6117L0 1EH] 1349 46 44 90| 11.0 |79.0
12| KF0 BERK 1295 43 40 83]10.0 | 73.0 62| KJI & 886 44 43 87| 7.0 |180.0
13 H MA 904 41 36 770 3.0 |74.0 63| Vil e 1308 45 45 90/ 10.0 |80.0
14|[E5 ¥ 1397 41 44 85/ 11.0 | 74.0 64| K ==— 915 46 44 90/ 10.0 |80.0
15 | ek B 864 41 46 87/ 13.0 | 74.0 65| ZHH FEH 1405 49 42 91/11.0 |80.0
16|74k sk 1336 40 38 78| 3.0 | 75.0 66| 4)11 F8H 868 46 45 91/11.0 |80.0
17 /A 2E 1473 40 40 80| 5.0 |75.0 67/ H O & 108448 46 45 91/11.0 |80.0
18| 5 EH 636 41 40 81| 6.0 |75.0 68| LI 51t 1537 48 44 92/12.0 |180.0
19/ —= 834 40 42 82| 7.0 |75.0 69 AT FHEM 621 48 44 92/12.0 |80.0
20 B BuE 879 43 44 87/12.0 | 75.0 T0faA 77 1093 49 44 93/ 13.0 |80.0
21 M8 H %% 108992 42 45 87/12.0 | 75.0 1 RS 251 46 40 86/ 5.0 |81.0
22\ P R 108796 45 42 87/12.0 | 75.0 A S 902 41 46 87| 6.0 |81.0
23188 (E— 1471 41 40 81| 5.0 |76.0 T3MEEA N 873 44 44 88| 7.0 |81.0
24\%E H 1651 42 40 82| 6.0 | 76.0 74|HTH & 415 45 43 88| 7.0 |81.0
25 | HJR 7% 678 41 41 82| 6.0 |76.0 75 /K B 1440 45 48 93]/ 12.0 |81.0
26|t 1% 1104 43 41 84| 8.0 |76.0 (R - 105833 45 48 93/12.0 |81.0
27 Wik 1521 40 46 86/ 10.0 | 76.0 TN B 105656 44 42 86/ 4.0 |182.0
28| g8 F5HA 205 44 42 86| 10.0 | 76.0 CIGTENEES 109 39 48 87| 5.0 182.0
29 | PEA; FEHA 1130 45 42 87| 11.0 | 76.0 79| R tTE 109245 45 43 88| 6.0 [82.0
30 HH BE 1544 44 43 87/ 11.0 | 76.0 80| /MbK e 1260 47 45 92/ 10.0 [82.0
31 ARE: &K 1436 47 42 89/ 13.0 | 76.0 81| Lk Ha 1538 45 47 92/10.0 |82.0
3210 2 1332 47 42 89/13.0 | 76.0 82| TR 1135 49 43 92/10.0 |82.0
334K IEFN 1477 39 40 79| 2.0 [77.0 83|21l K 1031 47 48 95/13.0 |82.0
34|B8 fetkst 378 42 39 81| 4.0 | 77.0 84 |¥k) B 63 46 43 89| 6.0 |83.0
35/ | RE 1522 42 39 81| 4.0 |77.0 85 A EF] 1414 43 47 90| 7.0 |83.0
36 Al —¥E 1077 42 42 84| 7.0 |77.0 86X H E A 1526 45 48 93/10.0 |83.0
37 HFH JE— 448 42 45 87110.0 | 77.0 8T|HA KA 1631 48 45 93/10.0 |83.0
38|/ K BEZ 1259 44 43 87/10.0 | 77.0 88| HrE EF] 112 43 49 92| 8.0 |84.0
39| AT AT 400 42 46 88/ 11.0 | 77.0 89| HAT E1E 23 48 45 93] 9.0 [84.0
40 | B ZEAE 1348 46 42 88/11.0 | 77.0 90 EH ELF 102668 45 50 95/ 11.0 |84.0
41187 2 1685 44 44 88/ 11.0 | 77.0 91/ B 1369 48 49 97/13.0 |84.0
25H =T8 1398 40 49 89| 12.0 | 77.0 92| ;i ik 108799 47 44 91| 6.0 |85.0
431/ K T 781 41 48 89/ 12.0 | 77.0 93| KA #fi =]HI 165 46 48 94| 9.0 |85.0
44| =1 BA 109574 43 46 89(12.0 | 77.0 94 |98 ER 1435 49 46 95/10.0 |85.0
45 | ST 1585 43 47 90| 13.0 | 77.0 95 /N 1480 48 47 95/10.0 |85.0
46 | ZEK F|= 1209 40 40 80| 2.0 |78.0 96 fHE R 108979 48 47 95/10.0 |85.0
A7/ A EAD 625 42 41 83| 5.0 |78.0 97|/ I B A 1235 47 50 97/12.0 |85.0
48|57 & 443 41 43 84| 6.0 |78.0 98| FE 1205 50 47 97/12.0 |85.0
49| X7 == 105848 41 43 84| 6.0 |78.0 99 851l =T 1368 48 47 95/ 9.0 |86.0
50 KB 4h— 1122 43 45 88/ 10.0 | 78.0 100 % 3 #ii 109085 46 49 95/ 9.0 |86.0
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BT | SN K4 2 ENO OUT IN | GROSS| HDCP | NET | crossh i #% B | N K4 2 ENO oUT IN |GROSS| HDCP | NET |crosshifs S

101 [mk WsiGa 1211 46 53 99]13.0 [86.0
102|558 58 749 46 48 94| 7.0 [87.0
103 5. BFn 1055 46 49 95| 8.0 |87.0
104378k 5 37 51 45 96| 9.0 [87.0
105 |t AR 1215 53 46 99/ 12.0 | 87.0
106 BpAS B2 1203 46 54/ 100/13.0 [87.0
107|Z £ 1572 47 47 94| 6.0 |88.0
108/ A4 & 1080 43 55 98] 10.0 |88.0
1091l =AS 1043 53 48| 101]11.0 190.0
110|556 eV 1227 51 51 102[12.0 [90.0
111 ER #— 1291 51 52| 103/10.0 [93.0
112 %58k &) 1285 56 54|  110/12.0 [98.0
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